FNEMAETRRINESE 5915

i

A 2 55 & [=a) &
BANDEMtERNESEETHE AR 8 1117 0|38 3 3 29 1
BERMNBEEEATEDL BK 8 7 13 4 1 -2 3
MENEASMBEABAESEKS DK 17] 1 7 3 4 0 -24 4
ABEEHK 814 314 3 2 -3 2

B4 2 58 i) B2
EPHATRIHEIEERBE AK 1 4| 4 1|6 1 2 5 2
EPHEKEETLRERBE CK 1 5 2|17 0 3 23 1
BRREREBE CK 42 5 17 0 1 11 3
AEEEREHNIE LPESHHE AR 6|0 17| 0 17 0 -39 4

C#H 2 BZ# B &
BANDHERERNESEETIR BK 7 1]2 3|2 5 1 2 3
BKRERESE BHK 7 0 513 4 0 -12 4
EPHBEERARTERRHE AK 2|5 0 4 5 2 5 2
MEIEANLBEARNEZEKSE BR 2|4 315 4 3 5 1

DA 2 Bi5E (=P B2
EPHATEPHEIBERBE BR 2 2|0 9|5 0 1 -4 3
BERNSEEEAEEDD CK 2 5 1]6 0 3 10 1
BRESREBE BK 01 5 5 1 2 9 2
EPHATEREEMARERBE AR 5]0 6|1 5 0 -15 4

Ed 2 BZE -2 &
BANDHERNESEETIE CK 5 4112 0|8 1 3 20 1
BRERERESE DK 5 7 316 3 2 6 2
EHBLERERERZRHSD B 12 3 7 0 12 0 -28 4
MEIEANLBEARNESE KR CK 813 6|12 0 1 2 3




Al

Bl

(1

D1

El

fl

61

H1

1st

SEhiahApiEitiREGEEE_ S5
“Lie4H
F#H 1 2 4 558 i=ba) BEH
1 EPMEKEBHHTERRHGE AK 5 : 118 213 1 3 12 1
2 BERMNEE(EEZAEEP L DX 1 1 4 |10 0 2 3 2
3 RO ERERERERERE AK 2 4 1 0 10 0 -13 4
4 EPHATEEEHEZREHSE BK 1 0 10 | 10 0 1 -2 3
G# 1 3 B5IZ 8 =5 BEH
1 B EgENEEES TR DK 6 1] 8 0 2 13 1
2 EPmEKEELHLERERS BK 1 6 2 3 0 -6 3
3 ETMEREARIERERS BX 0 81| 3 2 1 -7 2
H# 1 3 B5i5 8 =0 BEE
1 KRR RIBRCEK 3 2| 4 0 2 5 1
2 BKREREBE AK 2 3 1 11 0 -11 3
3 MEEANSLEZABNESE KR AK 0 4111 1 1 6 2
PRGBS R8BS - BB5HEE - AIDES S BEF
BH-185 - A%
BEHE—RBER/\BRE A BR/URSBHRE
BHEHERNESET IR AR 3
<> %ﬂgﬁﬁ %Biﬂ %E/L‘\ ’Z B 12
EPHAKERALEERGECH |
< |BNDHERNESET I AR 4
MEE\LEZABNEZEXSBR |
2 |MEEALEZARNESEKSBE |
BERAP Lz AEEDD (K 0
<4 %%UEEHA}EE%U %EIL:\ ?ABX
BloneRNEZES IR (K 5
< |ENGHERNESET IR (K 7
EPTRKEEHHEERTEAR |
o BHNEHERNESET K (K 1

BANTHERNERES K DK 2

=
N

<

NERERREMCH

~

NERERRERCH 5

MEENLEZABIERELKR

B

16

<.

v

HEEADEZA\BREEE)

= B

NERERRERCK

0

3rd



= il N Y B 1= =
FENiEMARE iRk ES E A5
Rl
AZH 1 2 3 4 558 (=) e (24
=HKE=EK 4 510 91 4 9 0 -5.00 4
aBrmEBLRE CK 5 4 0 14| 3 7 1 -5.67 3
BEBNEHEZEZAEED L AK 9 : 014 0 1 7 2 5.67 2
BEERIREEBET AKX 9 4 |7 3|17 1 3 5.00 1
B#H 1 2 3 B8 (=) BER
=dm & AR 15 0] 7 0 2 11 1
BERE AK 0 15 0 10 0 -12.5 3
Nt E IR EE R B AKX 0 7 110 0 1 15 2
c# 1 2 3 51581 [-v2) e (24
ahmBLRE AK 4 318 0 2 45 1
SErmBEKEREMtEEERE DX 3 4 4 4 1 -0.5 2
BB L EREREREERS DK 0 8| 4 4 0 -4 3
D#A 1 2 3 158 B BE&
ahmE & D& 3 10| 4 3 1 -3 2
NgttEIBREIR R BRX 10 3 8 3 2 6 1
BEBEREHZEDE e AKX 3 413 8 0 -3 3
E4H 1 2 3 58 [=va) e (24
ShmELZEKE B 5 0| 4 3 2 3 1
BB EREREREEBE CK 0 5 0 8 0 -6.5 3
EERIAK 3 418 0 1 3.5 2
F#4H 1 2 3 58 (=) BE&
ETHHEEXE BEK 3 517 1 1 2 1
BEXRE B 5 3 0 9 1 -35 3
Nt EREER CK 1 7109 0 1 15 2
BERLIBIZEEST - ZBIEAER - BB SEEER
BEo= (B8 -8BKD)/BEY
ZHE—F  FTABEREBER\BRE

R {E = ERE IR D 5

—&9h - A

_BZBEMER - RS RBER/\BERE




FhEfARERRINESE_ S515

[E144H
BRESREZE A b
T |BRRERLEE AR 4
BERNEZEZAEEPLAR |
< |E2RK 7
SPMALRE AR 0
2 |EHRRK )
el 5
S B L Ist
APmELKE AR 0
< | R ERERY BY 3
ARAEREEE B b
©|2PMmALKEBK 0
SEmELZKE BB 1
«|EPMAZZRE BK 6
SPMALKE BK 5
BRIRERLEE AR 2
| BB RERE BY 3rd
ARHERBEY BI 7




